Tuesday 23rd June 2020
James has 762 sweets. 
On Monday he sells 321
On Tuesday he sells 287.
How many does he have on Wednesday?

Imran has £1782. 
On Tuesday he buys a new coat worth £688.
On Thursday his dad gives him £3521 for a new car. 
The car cost £2742 
How much money does he have left?
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Look at each pair of calculations.
Which one out of each pair has the same
difference as 2,450 — 18307

2,451 -1831 2,451-1829

2,500 - 1880 2,500 - 1780

2,449 -1829 2,449 —1831
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Amir and Tommy solve a problem.

When | subtract 546
from 3,232 my answer
is2,714

When | subtract 546
from 3,232 my answer

is 2,686
Tommy

Who is correct?
Explain your reasoning.
Why is one of the answers wrong?
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5. Kayla is calculating the profit she made on different days of the week. Use the table
fo answer the questions.

Day of the

ol Profit(£) a. What was the fofal profit made on
eel Thursday and Friday?
Monday £2241
b. What was the fofal profit made on
Tuesday £1.654 sSaturday and Monday?
Wednesday |  £2,148
c. Which made the greatest profit?
Thursday £1730 Monday and Tuesday

Friday £245 or
Wednesday and Thursday?
saturday £7,126





